



(An Autonomous Institution) Coimbatore - 35

### **DEPARTMENT OF MATHEMATICS**

UNIT - IV FUNCTIONS OF SEVERAL VARIABLES

# JACOBIANS

If u=f(x,y) & v=g(x,y) be the two cts. Junctions of x & y then the functional gleterminant  $\frac{\partial u}{\partial x} = \frac{\partial u}{\partial x} = \frac{\partial u}{\partial x} = \frac{\partial u}{\partial y} = \frac{\partial u}{\partial x} = \frac{\partial u}{\partial x}$ 

$$|TJ| = \frac{\partial(u,v)}{\partial(x,y)} = \frac{u}{\sqrt{\frac{\partial u}{\partial x}}} \frac{\partial u}{\partial y}$$
 is called

Jacobians of u and I with respect to 28 y.

Three functions & three variables

$$|J| = \frac{\partial(\mathbf{x}, \mathbf{v}, \mathbf{w})}{\partial(\mathbf{x}, \mathbf{y}, \mathbf{z})} = \begin{vmatrix} \frac{\partial \mathbf{y}}{\partial \mathbf{x}} & \frac{\partial \mathbf{u}}{\partial \mathbf{y}} & \frac{\partial \mathbf{u}}{\partial \mathbf{z}} \\ \frac{\partial \mathbf{w}}{\partial \mathbf{x}} & \frac{\partial \mathbf{w}}{\partial \mathbf{y}} & \frac{\partial \mathbf{w}}{\partial \mathbf{z}} \\ \frac{\partial \mathbf{w}}{\partial \mathbf{x}} & \frac{\partial \mathbf{w}}{\partial \mathbf{y}} & \frac{\partial \mathbf{w}}{\partial \mathbf{z}} \end{vmatrix}$$

1) If u, v are functions of x & y and x, y are functions of or &s then

$$\frac{\partial(u,v)}{\partial(r,s)} = \frac{\partial(u,v)}{\partial(x,y)} \cdot \frac{\partial(x,y)}{\partial(r,s)}$$

2) If  $u \approx v$  one functions  $e_{\lambda} = u \approx y$  then.  $\frac{\partial(u,v)}{\partial(x,y)} \frac{\partial(x,y)}{\partial(u,v)} = 1$ 





(An Autonomous Institution)
Coimbatore – 35

### **DEPARTMENT OF MATHEMATICS**

3) & u,v,w are functionally dependent functions which are depends on 
$$x,y \ge 3$$
 then
$$\frac{\partial (u,v,w)}{\partial (x,y,3)} = 0$$

$$\frac{\partial (u,v,w)}{\partial (x,y,3)} = 0$$

$$\frac{\partial (u,v)}{\partial (x,y,3)} = 0$$

$$\frac{\partial (u,v)}{\partial (x,y,3)} = 0$$

$$\frac{\partial (u,v)}{\partial (x,y,y)} = 0$$

$$\frac{\partial (u,v)}{\partial (x,y)} = 0$$

$$\frac{\partial (u,v)}{\partial (u,v)} =$$





(An Autonomous Institution)
Coimbatore – 35

### **DEPARTMENT OF MATHEMATICS**





(An Autonomous Institution)
Coimbatore – 35

### **DEPARTMENT OF MATHEMATICS**

3 I 
$$x = \pi \cos \theta$$
,  $y = \pi \sin \theta$   $\frac{\partial (x y)}{\partial (x, y)}$ 

8 ln:  $x = \pi \cos \theta$ ;  $y = \pi \sin \theta$ 
 $\frac{\partial x}{\partial x} = \cos \theta$ ;  $y = \pi \sin \theta$ 
 $\frac{\partial x}{\partial x} = \cos \theta$ ;  $\frac{\partial y}{\partial x} = \sin \theta$ 
 $\frac{\partial x}{\partial x} = -\pi \sin \theta$ ;  $\frac{\partial y}{\partial \theta} = \pi \cos \theta$ 

$$1 J 1 = \frac{\partial (x, y)}{\partial (x, \theta)} = \frac{\partial x}{\partial x} \frac{\partial x}{\partial \theta} = \frac{\cos \theta}{\sin \theta} - \pi \sin \theta$$

$$\frac{\partial y}{\partial x} = \frac{\partial x}{\partial \theta} = \frac{\partial x}{\partial \theta} = \frac{\cos \theta}{\sin \theta} - \frac{\sin \theta}{\sin \theta}$$

$$= \frac{\partial (x, y)}{\partial x} = \frac{\partial x}{\partial \theta} = \frac{\partial x}{\partial \theta}$$





(An Autonomous Institution)
Coimbatore – 35

### **DEPARTMENT OF MATHEMATICS**

$$\frac{\partial x}{\partial u} = v$$

$$\frac{\partial y}{\partial v} = u$$

$$\frac{\partial y}{\partial v} = \frac{(u-v)-(u+v)}{(u-v)^2} = -\frac{2v}{(u-v)^2}$$

$$\frac{\partial y}{\partial v} = \frac{(u-v)-(u+v)(-1)}{(u-v)^2} = \frac{2u}{(u-v)^2}$$

$$\frac{\partial y}{\partial v} = \frac{(u-v)-(u+v)(-1)}{(u-v)^2} = \frac{2u}{(u-v)^2}$$

$$= \frac{\partial (x,y)}{\partial (u,v)} + \frac{\partial (u,v)}{(u-v)^2} = \frac{1}{(u-v)^2}$$

$$\frac{\partial (x,y)}{\partial (u,v)} = \frac{\partial (x,y)}{\partial (x,y)} = \frac{1}{\partial (u,v)}$$

$$\frac{\partial (u,v)}{\partial (u,v)} = \frac{1}{\partial (u,v)}$$

$$\frac{\partial (u,v)}{\partial (u,v)} = \frac{1}{\partial (u,v)^2}$$

$$= \frac{1}{\partial (u,v)}$$

$$\frac{\partial (u,v)}{\partial (u,v)} = \frac{1}{\partial (u,v)^2}$$

$$= \frac{1}{\partial (u,v)}$$

$$\frac{\partial (u,v)}{\partial (u,v)} = \frac{1}{\partial (u,v)^2}$$

$$\frac{\partial (u,v)}{\partial (u,v)} = \frac{1}{\partial (u,v)^2}$$

$$\frac{\partial (u,v)}{\partial (u,v)} = \frac{1}{\partial (u,v)^2}$$





(An Autonomous Institution)
Coimbatore – 35

### **DEPARTMENT OF MATHEMATICS**

If 
$$u = 2\pi y$$
,  $v = x^2 y^2$  and  $x = x \cos 0$ ,  $y = x \sin 0$ .

Solon:  $\frac{\partial (u,v)}{\partial (x,0)} = \frac{\partial (u,v)}{\partial (x,y)} \cdot \frac{\partial (x,y)}{\partial (x,0)}$ 

Left:  $u = 2\pi y$   $v = x^2 y^2$ 
 $\frac{\partial u}{\partial x} = 2y$   $\frac{\partial v}{\partial x} = 2y$ 
 $\frac{\partial u}{\partial y} = 2\pi$   $\frac{\partial v}{\partial x} = -2y$ 
 $\frac{\partial (u,v)}{\partial (x,y)} = \begin{vmatrix} 2y & 2x \\ 2\pi & -2y \end{vmatrix} = -4y^2 + 4\pi^2$ 
 $\frac{\partial u}{\partial x} = \cos 0$   $\frac{\partial y}{\partial x} = x \sin 0$ 
 $\frac{\partial x}{\partial x} = -\cos 0$   $\frac{\partial y}{\partial x} = x \cos 0$ 
 $\frac{\partial x}{\partial x} = -\sin 0$   $\frac{\partial y}{\partial x} = x \cos 0$ 
 $\frac{\partial (x,y)}{\partial (x,0)} = \begin{vmatrix} \cos 0 & -x \sin 0 \\ -x \cos 0 & -x \sin 0 \end{vmatrix} = x \cos^2 0 + x \sin^2 0 = x$ 





(An Autonomous Institution) Coimbatore – 35

### **DEPARTMENT OF MATHEMATICS**

$$\frac{\partial(u,v)}{\partial(y,0)} = (-4y^2 + y^2) \times y. \qquad y = 2\cos y = 2\sin x$$

$$= -4(x^2 + y^2) \times y. \qquad x^2 + y^2 = x^2 \cos^2 0 + y^2 + 3\sin 20 \cdot 0$$

$$= -4y^2 \times y. \qquad = y^2 \cdot 0$$

$$= -4y^3 \cdot 0$$

$$91 = 1 \cos 0$$
,  $y = 1 \sin 0$   
 $2^{2} + y^{2} = 1^{2} \cos^{2} 0 + 1$   
 $1 + y^{2} = 1^{2} \cos^{2} 0 + 1$   
 $1 + y^{2} = 1^{2} \cos^{2} 0 + 1$   
 $1 + y^{2} = 1^{2} \cos^{2} 0 + 1$ 

(i) SI. the functions 
$$u = \frac{\pi}{y} \not\in v = \frac{\pi + y}{\pi - y}$$
 one functionally dependent and find the relationship between them.

$$\frac{8 \ln 2}{2} = \frac{3}{y} ; \quad x = \frac{x+y}{x-y}$$

$$\frac{\partial u}{\partial x} = \frac{x-y-(x+y)(x+y)}{(x-y)^2} = \frac{2xy}{(x-y)^2}$$

$$\frac{\partial u}{\partial y} = -\frac{\chi}{y^2} \qquad \frac{\partial v}{\partial y} = \frac{\chi - y - (\chi + y)(-1)}{(\chi - y)^2} = \frac{2\chi}{(\chi - y)^2}$$

$$\frac{\partial(u, u)}{\partial(x, y)} = \begin{bmatrix} \frac{1}{y} - \frac{x}{y^2} \\ -\frac{2y}{(x-y)^2} & \frac{2x}{(x-y)^2} \end{bmatrix}$$





(An Autonomous Institution)
Coimbatore – 35

### **DEPARTMENT OF MATHEMATICS**

UNIT - IV FUNCTIONS OF SEVERAL VARIABLES

$$\frac{4n!}{v} = \frac{x/y}{x-y}.$$

$$v = \left[\frac{x}{y} + 1\right] \frac{y}{x} = \frac{u+1}{u-1}$$

$$= \frac{u+1}{u-1}$$

ST the dunctions  $u = 2\pi - y + 33$ ,  $v = 2\pi - y - 3$ ,  $w = 2\pi - y + 3$  are functionally dependent Jind relationship between them.

Ans: Junctionally dependent.

Relationship: u + v = 2w.

Of u= ny+ y 3+3n, N= n2y2+32 & w= n+y+3 determine whether a Junction relation between n, y, 3 accelependent & Jind relationship bottom. Them

An: 2u+v=w² (relectionship)